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General Instructions :

(i) The question paper comprises of two sections, A and B. You are
to attempt both the sections.

(ii)  All questions are compulsory.

(iii)  All questions of Section A and all questions of Section B are to be
attempted separately.

(iv)  Question numbers 1 to 3 in Section A are one-mark questions.
These are to be answered in one word or one sentence.

(v) Question numbers 4 to 7 in Section A are two-mark questions.

These are to be answered in about 30 words each.



(vi)  Question numbers 8 to 19 in Section A are three-mark questions.

These are to be answered in about 50 words each.

(vii)  Question numbers 20 to 24 in Section A are five-mark questions.

These are to be answered in about 70 words each.

(viii) Question numbers 25 to 42 in Section B are multiple choice
questions based on practical skills. Each question is a one-mark
question. You are to select one most appropriate response out of

the four provided to you.

T A

SECTION A

1.  oTYM® 3TEd ARt H Healek el hl T e | 3 Rl @
amg? 1

Write the number of vertical columns in the modern periodic table. What

are these columns called ?

2. Tefafad o St o fTe 3TanT § @R ST aTel 9o S1es i :
() o forfafy fomss gr fafirsamd dar St ofit swmma gt 2,
(i) Toremm et @ T2 YR a1t et ot ST | 1
Give the respective scientific terms used for studying :

) the mechanism by which variations are created and inherited and

(i)  the development of new type of organisms from the existing ones.

31/1/1 3 [P.T.O.
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STl U HoId TE1EF 2 | 39 a1 U ot gt s R o1 38 waned
oA o ToTC IR o e Ha& ol T9HM ok folt goma & |

Water is a valuable resource. List two ways that you would suggest every

family member to save this resource.

HTRIeh Taei o TR AT <l Gl TR |

List four advantages of vegetative propagation.

3qc qUU o &I Bihd ot TR fefra forelt stafaa fortor o @va gdor &
qUEfad B arelt TR ST 99 e31ie o fou fortor e diftm | 39 ame w
AT 10T 3R G hIvT 3fehd hIFST |

Draw a ray diagram to show the path of the reflected ray corresponding to
an incident ray which is directed towards the principal focus of a convex

mirror. Mark on it the angle of incidence and the angle of reflection.

I TR qifetefi st Sferat & IwiT W gfdery s o W@ R 7 37 Afei &
1 Ty ggms 7R gHETsT {6 30 Uftery & watet & 8 gur &n |

Why is Government of India imposing a ban on the use of polythene bags ?
Suggest two alternatives to these bags and explain how this ban is likely to

improve the environment.



7. Se-fafagar’” @ w1 qewd @ 7 99 T S=ISied R0 o &1 "eedl sl g
T | 2

What is meant by biodiversity ? List two advantages of conserving forest

and wild life.

8.  HEA-IIMRl § ThMIcHS T 1 A IR | (i) THTA H 3R (i) THTsh
3T H 3IUTET TehITcHe: THg ol A Td 38eh! a1 Gire | 3

State the meaning of functional group in a carbon compound. Write the
functional group present in (i) ethanol and (ii) ethanoic acid and also draw

their structures.

9.  TIESRIeHI i foRelt UHT Ee 1 AW IR T ¥ foftau e a1 gregiee
&1 Gehetd Afufshar & ek | TRt Teper erfurfsran & o stawees srat =
3eeid HLd GU SHehT TEM(eh FHIRT for@eht 38eh ATl 9 3cI&l
AT T IoeTE FhITSIT | 3

Write the name and general formula of a chain of hydrocarbons in
which an addition reaction with hydrogen can take place. Stating the
essential conditions required for an addition reaction to occur write the
chemical equation giving the name of the reactant and the product of

such a reaction.

31/1/1 5 [P.T.O.
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Tl o FHG I HASRAT T SN Tedeh o1 =rAiteadt aard ge Hefeiaa

Aftrent o g fofew

(i) U= THE & qeal o AHTSE,

(i)  OTEd THE & qcal o SATEE, qAT

(i) =% A s g Tgg & fhet dea a1 dicted @y & forelt o &

S Y S @ |

Based on the group valency of elements state the formula for the following

giving justification for each :

(1)
(i1)
(iii)

(a)

(b)

(a)

(b)

Oxides of 1st group elements,
Halides of the elements of group 13, and

Compounds formed when an element of group 2 combines with an

element of group 16.

= fou TTw vg st afeamsn ferfiew

(i) HArSTehdT, (if) TCHTY] |5

ek oTad areft & foRet omad W 1§ @ @€ SR SH W dcal I
TSIl Td ATV 13 W foh JehR aiEde gid @ 7

Define the following terms :

(1) Valency; (i1) Atomic size

How do the valency and the atomic size of the elements vary while

going from left to right along a period in the modern periodic table ?



12. AT % TR Rl i 9FT H SR T 36 Tcdsh AT H giF aed aiadal
AT FE o fou 3 difuw | i@ § 29 areft 39 gfshan 1 9w fafiag
e Tt T8 3= Sfid o1 RIS 3eTewur <ifere fored 59 wishan st deor fomam <
ghar g | 3

Draw diagrams to explain the regeneration that takes place in each of the
body parts of planaria when its body is cut into three pieces. Name any

other organism in which a similar process can be observed.

13.  HWaEl g 39 i ST areft MR it = fafemt i gt s ) 39 fafwi
1 39T forelt aftam & waree ud Tgfe ol Ioaed 9§ F gaifad war g ? 3

List any four methods of contraception used by humans. How does their

use have a direct effect on the health and prosperity of a family ?

14. (a) 39 T i fon ufer o fosmma gl @ gem |

(b) I, Afadud, RET 3 weefr #§ off et it TEaT Bt | |
TH 39 ST sl 36kt TGl o ST W Teh TTY TfEd L Tehd 87 AT
3T <l T afga gfE i | 3

(a)  Give the evidence that the birds have evolved from reptiles.

(b)  Insects, octopus, planaria and vertebrates possess eyes. Can we
group these animals together on the basis of eyes that they possess ?

Justify your answer giving reason.

31/1/1 7 [P.T.O.



15. 5 JSIId o HeT o Uil ot qf foreml, S Teh 7Tt a9 &t sfisil ot aen gadt
FRIaR qe it <fiSi arett off, o off= eRtor et T |

(a) F, 9iet o1 hiHiersy fafay 3t 1o 3 & fo ssror i |
(b) F, 9t & Gieii o L0001 g0 3T ¢ F, NG o Neri o 3 g wa
3h! IRt o1 Seoid shifsTy |

A cross was made between pure breeding pea plants, one with round and

green seeds and the other with wrinkled and yellow seeds.
(a)  Write the phenotype of F, progeny. Give reason for your answer.

(b)  Write the different types of F, progeny obtained along with their

ratio when F; progeny was selfed.

16. 1 AR g9T 50 cm g R O u8 W —1 s7raei w1 wffers sHmar 2 |
(a)  gUUI e WehI /Wehfal o1 ®, Tt |
(b)  fomar =ht wferforesr & g0 9ra HIfTC |
(c)  ador<ht e g forafi 8 7
(d) 38 YR § Sidfers ST g2 ok fore foror sTR@ S |

A spherical mirror produces an image of magnification —1 on a screen

placed at a distance of 50 cm from the mirror.
(a) Write the type of mirror.
(b) Find the distance of the image from the object.
(c) What is the focal length of the mirror ?

(d) Draw the ray diagram to show the image formation in this case.

31/1/1 8



17. ST & 39ad o e foaflaw | =fe fafa o e it =met 3x10° ms™! &, @
3T e, fSeeRt fuer sTgerdHTes 1.5 2, § TehreT ohl =Tt I1d <hifsru | 3

State the laws of refraction of light. If the speed of light in vacuum is
3x10° ms™', find the speed of light in a medium of absolute refractive

index 1.5.

18. WUl Tfed =me Sifste o geaht o gy @ forelt Ytk At arenren e ot fowms
AT 3 7 gt it uftrT o @ Aauisia rmaiet W ° o ferelt srafiemm
1 SATRTIT ShET TTd BT 7 370 3T hl IfY HROT |fed T | 3

Explain giving reason why the sky appears blue to an observer from the
surface of the earth? What will the colour of the sky be for an astronaut
staying in the international space station orbiting the earth? Justify your

answer giving reason.

19. “TAR @ S R 1 9o =Ed, diesi a9 wal, 31K 7" 9% | ot 1w
AT o R fafss AEnst ° ure Sid 2 | o o SAred i) foh wEn
fore wepm ST i BT R 7 3

“Our food grains such as wheat and rice, the vegetables and fruits and even
meat are found to contain varying amounts of pesticide residues.” State the

reason to explain how and why it happens ?

31/1/1 9 [P.T.O.
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21.

31/1/1

R Tigd AT shifse foh Tar 341 & foh e 9 @ C* oA R T & ¢

RO ST ToRaT &, Tg Tegdist AT AT © | R0 died 98 off 3eo@

(i) Torma & FeTeTsh I B B 7
(i) Y TTTh T FAUTTH Tt 1 2ld o 7

. 4 . 4— .
State the reason why carbon can neither form C*" cations nor C*~ anions,

but forms covalent compounds. Also state reasons to explain why covalent

compounds :

(1) are bad conductors of electricity ?

(i)  have low melting and boiling points ?

(a)  eRfert aoT Ivferft i | Yo o1 Ush-Tsh 3STel S |

(b)  Torelt 9o 8= o 9aTd T aTel 9iEdH] o1 Seeid hifsTu |

(c) Tafu gcie F=ft fichh 31 =afeat it DNA wfaepfaat =1 waem 2t 7, i
+ff 396 DNA 1 7t fera 38 et 2 7

(a) Give one example each of a unisexual and a bisexual flower.

(b)  Mention the changes a flower undergoes after fertilization.

(©) How does the amount of DNA remain constant though each new

generation is a combination of DNA copies of two individuals ?

10
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23.
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(a)

(b)

(a)

(b)

HIE HIET S T3 o 39-39 A 1 M fIRaT :

() S AU Iqd T R,

(i) T8l 31Ug I [EHIY] F Gorg BT 2,

(iii) TRl et (Ffaa e1ve) Tenfua & smar 2 |

&g | Ui ShIfSIT foh T1fud S o qe=ITd st 1 T2 | 5
Name the respective part of human female reproductive system :

(1) that produces eggs,

(i1))  where fusion of egg and sperm takes place, and

(111)  where zygote gets implanted.

Describe in brief what happens to the zygote after it gets implanted.

FE B TREl T ST ITAN ik HIHe! sl STl o ldiesl i Thel-

SRITTRITET ot diaR T Jaifud e amean @

(a)  3W TorT TR o1 o8 IUANT HEAT =T 3T = 7

(b) <\ I ®iHE Q@ f F Y&l H 3 ST o9 A fRaft gt W T
1feT foh dtam W saret 1 (i) feafda (se1), (i) Ster gidfor s |

(c) Ik YeRtur | wfferar st giia o foru foror s wfifer | 5

11 [P.T.O.
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A student wants to project the image of a candle flame on the walls of

school laboratory by using a lens :

(a)
(b)

(©)

(a)

(b)

(a)

(b)

Which type of lens should he use and why ?

At what distance in terms of focal length ‘f’ of the lens should he
place the candle flame so as to get (i) a magnified, and (ii) a

diminished image respectively on the wall ?

Draw ray diagram to show the formation of the image in each case.

MY o WA 1 STHa QN oh Fe! 18T | 39 SINT Rl TR i &
3 forfew |

Torhrasiicr 39N o AT 45 @ AT Hi-aT-ear @ difed € | gt
T G Hifed T 30 AT@ s I S 12 99 ¥ FH I * 2, T
FT T ShIT-T o JIuT & Stk SR ST Tehell 2 | SATYhI 1] & BT
1 IR foFa yehR T 1 |ftafad ek 30 a2 & faw & A 8 smyfa
3cqe T Tehd 27

List three common refractive defects of vision. Suggest the way of

correcting these defects.

About 45 lac people in the developing countries are suffering from
corneal blindness. About 30 lac children below the age of 12 years
suffering from this defect can be cured by replacing the defective
cornea with the cornea of a donated eye. How and why can students
of your age involve themselves to create awareness about this fact

among people ?

12
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HqTa

SECTION B

I 3119 foreft TrEmeht fSem 2 mL 3Tgd 5iat w1 &, ® 90 " o ufafes o
e, TTEaet ot weflaifa feeme faemr i fr B & forg w@ 2, ot o
5 ToFe o UTeITd 3119 I8 JeTuT hidt foh R e

(A)

(B)

©

(D)

I qefl T IS The TTHY S T R,
T Ueh T=s faeed s T R,
T St <t Tds W U 3 ol W o T R, 41

T Uftrfees 3 sl g W ST shl Tdg o T 8 | 1

When you add about 2 mL of acetic acid to a test tube containing an equal

amount of distilled water and leave the test tube to settle after shaking its

contents, then after about 5 minutes what will you observe in the test tube :

(A)

(B)

©

(D)

A white precipitate settling at its bottom,

A clear colourless solution,

A layer of water over the layer of acetic acid, or

A layer of acetic acid over the layer of water.

13 [P.T.O.
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FE BF A WEAE X, Y 3R Z ° S0 e ;ifsay waiss, difeam
TIES(ATES 3T TSI Freiae & Seld faeam P &, T o UHiseh 30 hi
TS S[Q ST © | 3T IfG TIHTSeh T ST o L UvaTd I8 Jcdeh TL@Hel oh
@ % e Stad! fouel aman 7, @ @ stemn o9 weeel! (WeAters) & 9@
o ke Rl g Ml g, e S g A g 7

(A) X3IRY
B) Y3IRZ
(C) X3RZ
(D) HEAZ

A student adds a few drops of ethanoic acid to test tubes X, Y and Z
containing aqueous solutions of sodium chloride, sodium hydroxide and
sodium carbonate respectively. If he now brings a burning splinter near the
mouth of the test tubes immediately after adding the ethanoic acid in each
one of them, in which of the test tube or test tubes the flame gets

extinguished ?

(A) XandY
B) YandZ
(©) XandZ
(D) onlyZ

14



27. el T sterEd e o foT vt 1 Hifeaw wEgiadTss 1 20%
faerem ard € | 9 &0 5o # oifeam TRegieamse it qufedt Se & gid v
39 Toera o1 ara wTd e foTens 51 39 foeta 3 Wehfd o1 Tiegur s dl €9 9%
Tt fehTet Trehd @ Th 30 Torerem a1 s <l wifsea ket =

(A)  FTEd qor faere e g |

(B) STt e forerem et g |

(C) TS} e farera steeftar g, 37eren

(D)  FeATErdt e foreram oeefia B | 1
In order to study saponification reaction we first prepare 20% solution of
sodium hydroxide. If we record the temperature of this solution just after

adding sodium hydroxide flakes to water and also test its nature using

litmus, it may be concluded that the process of making this solution is :
(A) exothermic and the solution is alkaline.

(B)  endothermic and the solution is alkaline.

(C©) endothermic and the solution is acidic.

(D)  exothermic and the solution is acidic.

28. GIEH SH o oI TreFeRor st o stee hd oHy foRdt 9 @ U
Tregen 3 srfsrferan fsror o wnemor Fwes & 3 A1 e =1 g fon ) 5|
srfrfsran  |TETROT THe 1 T R B

(A) TS i &ITERIT oh hH T,

(B) WIS hl STAIIAT hl HH AT,

(C) WIS hl THTS A hl &9aT H Fhg FET, Tera

(D) WS o TFEIV H TERAT FHET | 1

31/1/1 15 [P.T.O.
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While studying saponification reaction for the preparation of soap, the
teacher suggested to a student to add a small quantity of common salt to the

reaction mixture. The function of common salt in this reaction is to :
(A) reduce the alkalinity of the soap,

(B)  reduce the acidity of the soap,

(C) enhance the cleansing capacity of soap, or

(D)  favour precipitation of soap.

hig foameff 9’ WAl P, Q, R @91 S H, Y% § TN 6mL THd Sid
AR, T TEAA! | =R fafirs davn 6 a9 9 § Sieldr ® | 98 st
‘P’ T Hifeaw FAgE, ‘Q’ H UM FANIEE, R’ H HicHs™ FaRIge a91 ©S°
H TR FAES JAdT § | 38 TYETd a8 Yoish W H |igH o foaeed
H 10 93 STAR W@ Fl ellwifd Zardm © | 98 weHfear S a1egd &
Y ThY (STEeTeiie yard) =9 5T 2, s o 27

(A) Pa=Q
(B) Q@R
(C) RAAS
(D) Q@S

A student takes about 6 mL of distilled water in each of the four test tubes
P, Q, R and S, then dissolves an equal amount of four different salts namely
sodium chloride in ‘P’, potassium chloride in ‘Q’, calcium chloride in ‘R’

and magnesium chloride in ‘S’. He then adds 10 drops of soap solution to

16



each test tube and shakes its contents. The test tubes in which scum

(insoluble substance) is formed with soap are :

(A) PandQ
(B) QandR
(C) RandS$
(D) QandS$S

30. forel ®@ 9 eEad U & Bk @ I R ok AU TRt gy foma
idfers T8 o T © | Afe 3u forma o &9 | wieliifa wéied foreft omat wam
& g1 § @ FefaRad ¥ & &4 a1 T faesheu S99 ael idafers w1 gl auie
FAAE :

(A)  TTE, IeaT IR AT 1 1 Bl Ufdfers

(B)  dTEdfreh, HieT SR T[aTel TT a1 Bl Widfera

(C) aTEafaeh, 3wl 3T AT TT o1 DT Ticfore

(D) 3T, wien TR A W ot foafdia fifora 1

A student has obtained the image of a distant object with a concave mirror
to determine its focal length. If he has selected a well illuminated red
building as object, which of the following correctly describes the features

of the image formed ?

(A) Virtual, inverted, diminished image in red shade
(B)  Real, erect, diminished image in pink shade

(C) Real, inverted, diminished image in red shade

(D)  Virtual, erect, enlarged image in red shade

31/1/1 17 [P.T.O.
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T BE A AT T A i BRE g F, 910 B ok o et gy fom e
Tfdfers e R wTH foram | 3Tes fo1erer 3 gfdfors i S/ &+ & g3=1d 39 T
1= <iw, Sraeh! wrend gt F, oft, 3ot 38eh g 3 forrat =l 3t 9 W wiskfa
0 o ToTe et | 38 B 3 J8 I Tk forsy w1 u¢ W wfdfers wmg & & fofw
3G T A IS H QWA ST US| 39 B h 39 Y01 ok YR W Ig e
TenTett ST gehd © Tor Sueh! fow 7w a1 o

(A) FIAqAAqA F, <F,
(B) SUAYTAF, <F,
(C) IAAYTAF, >F, IO

(D) 3Edd A qAF, > F,

A student has obtained an image of a distant object on a screen to determine
the focal length F; of the given lens. His teacher after checking the image,
gave him another lens of focal length F, and asked to focus the same object
on the same screen. The student found that to obtain a sharp image he has
to move the lens away from the screen. From this finding we may conclude

that both the lenses given to the student were :
(A) Concaveand F, <F,

(B) Convex and F| <F,

(C) Convexand F,>F,

(D) Concave and F; > F,

18



32.

31/1/1

T o TATRR IS | TSR aTeit forell SRt foRtor o1 g1 STRREd e
SRR ! A ok Tor = gt TR SR SR seensi 1, 10, 1M1 3R IV &6

g Fiferu |

>P2

11

P,
\

II

vV

0 O fohg et § waray i ITe g < @9meET ® | (P 99T P, A fd
fortor wx e At @1 ot < feurfeat €) 7

A) 1
B) 1
(C) I
D) 1V

19

[P.T.O.
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Study the following four experimental set-ups I, II, III and IV for the
experiment, “To trace the path of a ray of light through a rectangular glass

slab.”

¢ P,
P,
» P, P,
I II
P,
P,
P, P,
III 1Y%

Which of the marked set-ups is likely to give best results (P; and P, are the

positions of pins fixed on the incident ray) ?

A) 1
B) 1
(C) I
(D) 1V

20



33,  forelt et o BT 4 ‘T o SAIATRR TS U ToRA It feRet weRTeT foRtor @A
vt MREd AT FA o R W A= few e st § @ forg fsed o0 @@
T :
(A)  3T9dA v T3id shIv & &2 2,
(B) Toria =ior ST9erd hivT @ BIAT R,
(©) Tt foreor sruafda fomor 3 w2,
(D)  afea foor e faefa fomor weh-gat & Tura € | 1

On the basis of their experiment, “To trace the path of a ray of light through
a rectangular glass slab,” students of a class arrived at which one of the

following conclusions :

(A) Angle of incidence is greater than the angle of emergence,
(B)  Angle of emergence is smaller than the angle of refraction,
(C)  Emergent ray is parallel to the refracted ray,

(D) Incident ray and emergent ray are parallel to each other.

34. = fom v v o fosw @ oA areft fordt et fortor Rt vt qwifen R

31/1/1 21 [P.T.O.



39 fomr o TS whivn, stuaa shion, fria 1ot 3T forerer shior shmsT: ferees grn
frefua e mu & 7

(A) O,Y,Z3MN,
(B) P,Y,M3RZ,
(C©) O,X,M3WmZ,

(D) P,X,Z3WN

The path of a ray of light passing through a glass prism is shown below :

In this diagram the angle of prism, angle of incidence, angle of emergence
and angle of deviation respectively have been represented

by :

(A) O,Y,ZandN,
(B) P,Y,MandZ,
(©) O,X,MandZ,

(D) P,X,ZandN

31/1/1 22



35. i S T o TUSH ¥ TSR aTei! Toret SehTet foRToT <k 9er hl ST aTet o
VeI L /T 2 | I8 B I 5hs Hehtel T fof Iedish 319" hivl o feiu emre

WW%

(A) 59 d vow wd gqg sifiar il 3 qen w8 frla g9 wm
fieTs ¥ g,

(B) Torsm ® yaw std ww afyrersr @ g aen fisw @ frla 2ia v stfves
I 3,

(C) Torsw o vaw ohed 7R firsw & fid gid @ 3t & et # stfvers @
<

(D) Trsa ¥ vyow wd 3R 5w @ fria S g9 <1 & fefaat § stfvers
i 3R 1

A student is observing the diagram showing the path of a ray of light
passing through a glass prism. He would find that for all angles of

incidence the ray of light bends :

(A) towards the normal while entering into the prism and away from the

normal while emerging out of the prism,

(B) away from the normal while entering into the prism and towards the

normal while emerging out of the prism,

(C) away from the normal while entering as well as while emerging out

of the prism,

(D) towards the normal while entering as well as while emerging out of

the prism.
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36.

31/1/1

foret B @ Uk Reges 4 39 @i o g § faba fora-giai & foo
whfersr-gfat 3 s % foe w8l | 384 @l wragTrR siad g s TR

IR 379 gt el &t TRt et # e fohu
A & o A1 g8 (cm) gicferes &l g (cm)
1 60 15
2 48 16
3 36 21
4 24 24
5 18 36
6 16 48

&7 - 31 ST A T RI&Te - I el ok Toh Safor | Wit —gl e i
H Terdt = R 2 | 3| T ST it A T s i @ ekt wfafere -l a@

TR

(A) 2
(B) 3
€ 5

(D) 6
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A student was asked by his teacher to find the image distance for various

object distances in case of a given convex lens. He performed the

experiment with all precautions and noted down his observations in the

following table :

S. No. Object distance Image distance
(cm) (cm)
1 60 15
2 48 16
3 36 21
4 24 24
5 18 36
6 16 48

After checking the observation table the teacher pointed out that there is a

mistake in recording the image distance in one of the observations. Find the

serial number of the observation having faulty image distance.

A 2
B) 3
<© 5
(D) 6

25
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37. Tordli o 3 30 <\ g0 TRt Saen =t faafia gfafors o8 wouma s forn R
gfafers sF &1 deaedt o @ dien & fou = & wit i o 9 fe,
ek 319 o Tw=Td 9 GRIC ¢ &, 39 BT &l I =116 7

I 1l

11 v

(A) 13RI
(B) 13RI
(C) ISRV

(D) 13RI
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A student has obtained a magnified image of a flame on a screen using a

convex lens. To draw the corresponding ray diagram, to show the image

formation, which of the following two rays whose paths after refraction are

shown he should select ?

(A)
(B)
©

(D)

III

Tand II

II and II1

III and IV

I and 1II

27

II

[P.T.O.



38. = fum o sydfien 0 fa@ue & fofie swor ewfu o 2

S TN T T SFH T ST 9T
(A) LIV,ILILV
(B) LILIV,ILV
(©) LILIV,ILV
(D) LILILIV,V

Study the following diagrams showing various stages of binary fission in

o &= (@) = 0@

The correct sequence of these diagrams should be :
(A) LIV, ILI,V
(B) LILIV,I,V
©) LILIV, 1,V

(b)) LILOLIV,V
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o: oo
'm )
% f@

I II

(A) L IR
(B) 1L I3V
(C) LU3mIv

(D) IIL IV 3R 1

3 Tertt st v shifsTe o =i & geper st wifsean gmielt At 2 |

® .
@@Q@ @?‘3@
o &®
© &>
111 I\Y

Identify the figures showing the process of budding in yeast.

od

QRO
e ]
o f@

II

ol

(A) 1,1 andIII
(B) 1II,III and IV
(©) L HIandIV

(D) TILTV and I

O
0%, &* g
g &
& &
11 v
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40.

41.
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Freafafaa o afes st 6 a1 T Sier gHsTa ST i 3SR R ¢

(A)
(B)
©
(D)

AT 3T IRl
TSR 3R 7t
TSR 3R 2T

AT 3R Tt

Which one of the following pairs of vegetables is an example of

homologous structures :

(A)
(B)
(©)
(D)

Potato and sweet potato
Carrot and radish
Carrot and tomato

Tomato and radish

IR BET P, Q, R 3R S 7 7= AU U 371 o Ao i IH -7 qHEY

ERIEI

P e o 3R 7R fgushedl % e
Q Ul % IS R HHA & SUUE

R dHd % 1@ 3R fiaeh & 7@

S g&ft o T TR THeS & T
TR YA BH AL R

(A) P3MWRQ

(B) Q3R

(C) R3RS

(D) P3RS
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Four students P, Q, R and S differently reported the following set of organs

to be analogous :

P. Forelimb of a frog and forelimb of a lizard
Q. Forelimb of a bird and forelimb of a human
R. Wings of a parrot and wings of a butterfly
S. Wings of a bird and wings of a bat

The two students who have reported correctly are :

(A) PandQ
(B) QandR
(C) RandS
(D) PandS$S

42, 39k f31eTeh 4 ATIH = o SISt ok YT & e 9w o St A o foTw e
2 | 39 YA o foTe ute fopg S At =ror i feg e €

I 9 oS ol s o 8 famment s Td e ofim e i |

. fF s o ohTeeRt 3aeh fafsrer st ot Seqor ifere |

. 93-feor § 38 9+ & 3% ol it |

Iv. Afafaa it s e difsm |

V. st s et et et shue § e wa o o fore v € sie difsu |
BENMEIEHECES

(A) ILLV,IV,II

(B) ILLILIV,V

(©) ILIV,V,LII

(D) ILLIV,V,II 1
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You are asked by your teacher to study the different parts of an embryo of a

gram seed. Given below are the steps to be followed for the experiment :
L Soak the gram seeds in plain water and keep them overnight.

II. Cut open the soaked seed and observe its different parts.

IlI.  Take some dry gram seeds in a petri dish.

IV.  Drain the excess water.

V. Cover the soaked seeds with a wet cotton cloth and leave them for a

day.
The correct sequence of these steps is :
(A) ILLV, IV, I
B) ULLILIV,V
(©) LIV, V,L I

(D) ILLIV,V,II
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